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| SQIENCE . 15 minutes of extra time have been aliotted for
Total Questions : 31 ' Total Printed Pages : 16 . the candidates to read the guestions.
Time : 2 Hrs. 45 Minutes | [ Full Marks : 80 - E a9 -A
GROUP - A
 rdtemedt % ford v i+ o)
Instructions to the candidate :
1. Stemelt quTE AuR veRT # At e G | [ Marks : 60
Candidates are required to give their answers in ﬁﬂ's'[ g
their own words as far as practicable. : B
o ahel ol TRR T R gn o quits e A\ ] 56w ald
S )13 OTeT WYl % 3T TP VIS 9T U 9 T S
ig:’:zs in the right hand margin indicate full . issjggninofolnilawrgd or in one sentence the
3. gyt uv afad € | (i) 2 3 T WA H IW TN 50 W\l H, 3 IHF
 All questions are compulsory. I WAl & IR AT 75 VR Te 5 3 ol
4. AT X WY udtemell gur@wa YSE-WET U % SO eI 150 VIl § 3|
o A ‘Answer in about 50 words the questions of
While answering the candidate should adhere to 2 ma.rks, answer in about 75 words the
the word limit as far as practicable. ' ' questions of 3 marks and answer in about

150 words the questions of 5 marks.
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L o et & S o EORO FEEA@E 2] - - “
. How does change of energy take place in electric 7., & G AR ﬁw‘ﬂfigﬂ'—l‘eﬂﬁ BdE ? ]
motor ? : In which medium is the covalent compound
5. fogd Fed W 100 W - 220 V e &1 @ H | soluble ? -
| i 8. TTwHE W W PR E 2 1

et forege |RT 7 A @A 1

on an electric bulb. What is the general formula of alkyne ?

100 W - 220 V is printed

How much current will pass through the bulb ? V'l 9, 1Cq Han - . SR - 1
3. @R ST i TR fawar g | 1 Cp Hop is the general formula of which type of
e Give one feature of solar encrgy. | hydrofarbon_? \_
4 fR S S.L T @ E 7 1 10, TP WA A T U I AWML 7?1
| What is the S.1. unit of resistance ? _ Which metal is cut with the help of knife ?
11, A TG0 & U G Same | . .

ﬁ—gﬂmﬂ%?ﬁrm@ﬁaﬁ?ﬂﬁm

o . 1 . Give one suggestion for the conservation of
FETE 7 | forest. '
On which effect of electric current docs an 12 tﬁ{} X B:i?r 5 ) L 1
clectric bell work ? | R : |
I TT [&d &Y e i ?ﬂ_(’ﬁ g ? 1 . Why are plants green ?
6, @ = & 13, WITO ¥ 39 T GE § 0 ]

of gold measured ?

.ch form is the purity
In whic What do you mean by pollination ?
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14, TIdE fRQ & & g A O 8 2 ] | . T
20. TP T Uraw T W 7 i § 2 2

Fish respires by which respiratory organ-?

'_15._ﬁ%ﬁﬁ'aﬁqﬁaﬁﬁaﬁmﬁm€m%? 1

“What is the role of digestive juice in the

stomach ?
T.rans_port of water occurs through which type of o1, EET TE - S e s S 2 )
tissue ? =i el ELI AT
16, O 9o ¥ 3T =19 Wﬁﬁ%‘ 7 - o, - :.;:Z:hi;gﬂ‘;e difference between respiration and
Wiat doyou mean by short circuit ? o e e A E 2 3
. .w. Wa?"ﬁ il ? v SlES Why is convex lens called converging lens ?
s 2 Q&WWWW%?WWWQ}
gﬁtd:gzgfmon of light ‘? Describe ‘its laws garg 2 3
18. Uﬂ%ﬁ TEEE H‘E?m{trr R E } TR | 2 | gg:;. ?is grouping of resistances ? What are its
:;Ei:}ill: balanced  chemical equation ? Give 24, IR 3w Rw & o =t faﬁ: Td EQ'EJ:ITT

S & arEEi g 3
19. & HhYA ?ﬁ‘-‘-r ﬁq % 7 2 . . | o
Write the pracess of making the Plaster of Paris

What are t : '
he resourcas of non-renewable and its uses.

energy ?
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25, o s @ & 2 wiem vy 7 e
el zeR @ g o 3

What is valence electron ? Write number of the

valence electron in sodium.

267 o 3R wias |1 s o |
Write the difference between bloo
27 mwmwﬂ#‘%mwmfﬁﬁi 3

and functions of male and

d and lymph:

Write the names
female sex hormones.

qf?szmﬁw% ?%?ﬁﬁm%a’lﬁ% 7 ZAHI
Eraror 3 foa ST § 2 5
arerar

ng;wmmmwﬂa
Wﬁm@maﬂﬁﬂ?%ﬁm

T U P
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What is vision defect ? Name its types. How can
they be removed ?

OR
What is resistance ? How is the resistance of a
coil calculated practically with the help of
ammeter and voltmeter ?

09, Tl WS T E 7 TG WM I I U5

HOAT

ﬂéﬁmmmwﬁaﬁtaﬁgﬁﬁwmﬁ
FT AT E 7

What is energy crisis ? Describe its remedy.
OR '

What are the differences between Mendeleef's
periodic table and Modern periodic table ?

30, WAfTE fEwr gR 9dd fF owem dveser @

fopan © St 9 T Bl 8 | 5
Describe the experiment which shows that
oxygen gas is released during the process of

photosynthesis.
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| . gu-s | 31, S fet 3 @ wd e o
GROUP -B | | Choose the correct alternative from the given
. four options :
(o 20) G e g e vt g
{ Marks : 20) @
agaHicas 9T b)) e
_ Hultiple Choice Questions ) (a) 3t (b) ﬁ-‘-ﬁ
w7 : 30 I quileh = 20 1 =20 (@) T &
Time : 30 minutes Full Marks: 20 x 1 =20 Ee.ﬁiie alfﬁnned by plane mirror is
’ (b) ~real
| e

General Instructions :

) W Y T 3
Each question carries one mark. -

G o e o uR defeas SRl H @ Wl I A
fepea wer @ % O ford | |

Write down the correct choice with question
numbert from the given four options.
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[c)  both (a) and (b}

(d) none of these.

Mo g 9 @ 5T % fore few ofg @
SRR BT & ?

cAa) I (b) IaA

(c) TEHBR (d) FTH 9§ FE T2
Which lens is used to remove the near
sightedness defect ?

(a) Convex (b} Concave

(c) Cylindrical (d) None of these.
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HHY =47 ¥ {0 WehR &7 o T wEr 8 9

~a) 0 (b) Haa™t
(¢) SR (d) STERIHA |
What type of lens is found in human eye ?
(a) Convex (b) Concave
() Ring (d) Bifocal.
foryareR oo et 9 Y e e &
(a) - X _b) TeEHR
(¢) TeaAMiR () T WP E |

The instrument used to
potential difference is called

(a) ammeter (b) voltmeter
(c} galvanometer (d) mnone of these,

sifler W P v § W
ST § ?

{a) HvitsH

(b) UPEEE

(€ () I (b) SHI

(d) TRH " HIE TR

measure  the

SCIENCE

(vi)
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Ammeter iy connected i
in )

e an electric
(@) in series
(b)  in parallel
(¢} both (a) and (b)
([d) none of these,
EECI ) - 3
(a) e (b) Ty
() =1 = (d] Qiﬁ‘l?ﬂl
The S.I. unit of electric current is
(@) volt (b) coulomb
(¢} watt (d) ampere
(R M ok Feafe Yhtifears
S 2
la) I o(b) I
fc) Il @ ¥ ¥ 8 55,
By which | i i
o e ens  only virtual Image jg
(a) Convex (b)  Concave
(c) Bifocai (d) None of these,

(2]
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(a) oTAFTE AT (b) RGN
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wiii) CuO + Hy - Cu + H,0 f6¥ whR &

3?1|'£| ?ﬁtﬂ ?
83 S (c) & (d) STFE |
(a) SUEE (b} ) Carben combining with hydrogen forms
(@ TEHETT () EEE () ionic compound
What type of reaction is (b} hydrocarbon
CuO + H, - Cu + H0? () halogen |
(a) Oxidation (b} Reduction @) aquarega.
(c) Neutralisation(d) Redox. i) AT URON & W e o Weld §
lix) SO ¥ IR @ &9 difieh, Heeid e @ TR ) e o
) HeEa ) S ¢ FHAT (q) Ty U
) EACIEEH ) T IS 7wl f | 2‘]:; members Gf 1st group of the periodic
The compound formed by transfer ‘o P are
electrons is called (a) ?‘md metal  (b) alkaline metal
(a) covalent (b) electrovalent (c) inertgas  (d) alloy.
(c) carbonic (d) none of these. (xili) ST 5 COQﬂ'HEhQ{ Ref 3
) dide I € ' (a) 0:01% (b) 0-05%
@ UH (b) 3T T k) 003% d 002%
o BETEE () I | The presence of CO, gas in atmosphere is
Brass 1° zf ﬂxmpl?b?f non-metal (@) 0-01% (b)  0-05%
t - (130,
f:j :llfo}’ (d) metalloid. (€} 0-03% (d) 0-02%
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(xiv] ‘NaOH' &
(a) 3T (b) &R
Ac) o (d) %FAH | w=lE 7l
'‘NaOH' is
(a) acid (b) alkali
(c) salt (d} none of these.
(xv) T @
(a) THEHE (b)) TE
(c) TIgH (d) TR
Auxin is
(a) ahormone (b) fat
(c) enzyme (d) carbohydrate.

(xvi] HITE TR & WA oF T 90 A6l @
(a) 3TUSE (b) THiE
(c) yafewr () Ferented

..................... is not a part of human
female reproductive system.

SCIENCE 16 8l. Code :|811
The anther has _
(a) sepals (b) ovary
(c} ovules (d) pollens.

(xviii) TEHET GHUT & fAU 3TEvEh §
(a) CO, Ab)  FARIEHA
() ER VW  (d) 399 9 @il

Essential for autotrophic nutrition is
(a) CO, (b) chlorophyll

{c} sunlight {d) all of these.
(xix] O & YRR F e 9 ofa

(a) TR (b) STTErY

(c}] TSR ~(d) ng:tiﬂ |

The largest gland of human body-is

(@) liver {(b) pancreas

(c} ovary {d} adrenal.
{xx) UIRY FAN 6T IGEIOT §

(a) U (b) USHEA

() SR (d) TR

(a) Ovary (b) Uterus
(c) Vasdeferens (d) Fallopian tube. [E:]mmple of 1:=h:>rtmh«:[-E;n«::rxi1 is ;
Coan a pepsin adrenaline
{xvii) IR | Bld & {c) auxin {d) testosterone.
(a) oT&l g (b) STSRME -
(c) 33T {d) QIehTT |
! E [ Turn over 2
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